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QUESTION 1

Which action needs to be performed in order to complete the definition of an application-period temporal table?
A. A transaction-start-id column must be defined for the table.

B. A history table must be defined and associated with the base table.

C. ABUSINESS_TIME period must be specified in a CREATE or ALTER of the table.

D. A unique index must be created that prevents overlapping of the BUSINESS_TIME period of the table.

Correct Answer: C

QUESTION 2
Which statement about UPDATE processing is FALSE?
A. The UPDATE statement logs the before and after value of every column it modifies.

B. A searched UPDATE is used to update one or more rows and a positioned UPDATE is used to update exactly one
row.

C. When the UPDATE statement modifies parent key columns, the value of corresponding foreign key columns are also
modified.

D. The UPDATE statement modifies the values of specified columns in the rows of a table, view, or underlying table(s)
of a specified fullselect.

Correct Answer: C

QUESTION 3

When a user-defined function (UDF) is created and no schema is specified, what schema is used to store the UDF?
A. The SYSIBM schema.

B. The SYSFUN schema.

C. A schema with the name of the UDF.

D. A schema with the userid of the UDF definer.

Correct Answer: D

QUESTION 4

Which two activities indicate the need for a data warehouse? (Choose two.)
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A. Confirm product inventory.

B. Monitor product availability.

C. Summarize sales by region.

D. Identify patterns for products sold in the last five years.
E. Associate one or more products with a purchase order.

Correct Answer: CD

QUESTION 5

When a COMMIT statement is executed, what happens?

A. All locks held on the database are automatically released.

B. Data stored in global temporary tables is automatically deleted.

C. Open cursors defined WITH HOLD are closed, but their data is retained.

D. The current transaction is terminated and a new transaction boundary is started.

Correct Answer: D
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